GRADE 12
REVISION OF PAST PAPERS FOR PRACTICE
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ANSWERS

QUESTION 1 OF 2019 FINAL EXAM
QUESIION/VE44G L

111 X +5x-6=0

(x+6)(x-1)=0 ¥ factors
r=-6 or x=1 vi== v x=1 ()
112 4 +3x-5=0
I_—bi'u'b:—flaf
B 2a
-3 - 44)-9) v substitution into the

= ) cormrect formula
I_—i:x@

Coe

r=-155 or x=08
vi=-15 v x=0§ (3)

113 4 -1<0

(2x+1D2x-D <0 ¥ factors
-1 1 o
ERR i — v'method
) ) + 171° ¥ answer (3) \/(\/ﬁ+x)(\/3_2+x)
2 2 ]

114 =— ,,4_)4;*/,/ DIFFERENCE OF TWO
[f‘uiﬂ [JJE ] SQUARE BY USING

DISTRIBUTIVE LAW

—

| I <
Yil-x"=x val32-x
. . — x2
PV-y =y v squaring both sides V32 -x
J2xt =)
¥ =16 v X =16
x=14
~x=4

v' x=4(selection) @)
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12 +r=12
-—x+]12. )] vy subject of the fommila
=l4-3x . (2
Suab (1) into (J)
H—x+12) =14-3x ¥ subsinmon
—x'+11x-14+3x =0
-x +lhr=-14 =0
r-lr+l4=D v sinplification
(x—14¥x-D0 =10
v bt vahues af x

r=14 or x=l

\ . v'hoth vahues of ¥ 5)
|.' - —y O I:|-'-_]
OR/OF OF/OF
F+r=121
Ym—y+12 . (1} /x subject af the forla
w=14-3x .. ()
Suk (1) into ()
Wy +13) = 14— 3y +13) ¥ sibstution
P2y—y -14+35-3y =0 + sinphification
-y +8y+11=i
yi-9y-1a=l
|:". —E__I:l-'—.l..-] -
y=-2a y-ll v Toth values of »
Yrmld of x=l - -

+'horth vahies af x 3)
L3 3 &6 9 1@ 15 18

- - =y - - -
a a 3 - a a

k=14

s

¥ identslyving moltiplss off 3
+'ten omltiplss of 3

v powers of 3
v ADSWET (=]

1|
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QUESTION 2 OF 2019 FINAL EXAM

QUESTIONTRAAG 2
11 200 ; 186 70 186 @
113 1 ;. 200 ;. 261 ;. 14
W’ \‘r,,-’ xv,.f

Lsr diff

]i'!ﬂ'ﬁlﬂr "_._r.ﬁdjf=]

la=l 3a+be=-3l a+bec=3l ra=1

2=1  HO+b=-31 l+(-3%)+c=321 :i;‘;

B m—34 c =3 N

T =n®-34n+3% )
113 | n*-3a+3¥-T ¥ equafing T, to 74

' —3n+ IR0 =)  stamdard form

m=14)mn-20)=0

h=l4d o n=10 14+ 20 0
]]'1' I'II:E:I-E'

In-3 -

;: Jj ’ v In-34=i]

.

Term 17 will have the smallest value ¥ ANSWET (2

OR'OF OR/OF

na=t

1a
4 )

Mo + gobstiraiion

=17

Term 17 will have the smallest value ¥ amswer (2

OROF OFOF

. _+1|:| 17 v substitafion

Term 17 will have the smallast value ¥ s (2
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13 B ] -|- T
ﬂ'—E T-E P
1—r")
5 -ﬂ
: 1-r
3Ly . .
| |'.-| " substinmon into the
5., -
' 1-= care fornmla
~12400
=115 v’ AEEWET 3)
11 3
[ Em
s v substifution ingo the comect
i rﬁ formmla
M1y ., 5
gl1)  8le2
|'.1|N; . + method /same bass ar lag
L2 1024
3] >|3] & ¥l
n—1<10 —-n+l==10 o
n<1l n<ll ¥ ealolann
n=10 =10 v ATSWEr
()
OR/OF OR/OF
B;16;32; . 8102
il [ +" sobstingion ntg the coarect
-l -1 fornmla
Bl [ 5 P—
- M
n—-1<10
n<ll v calculating n
T )] v ADGINET :.l.:.
1]
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